(=maths==CE1==GM12A=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 17 mm = _____ cm et _____ mm
b) 8 cm = _____ mm
c) 76 cm = ____ dm et ____ cm
d) 43 dm = _____ cm
e) 453 cm = ____ m et ____ cm
f) 1 m 85 cm = ______ cm
g) 5 km = ______ m
h) 1326 m = _____ km _____ m
i) 8 kg = _____ g
j) 6473 g = _____ kg _____ g
(=maths==CE1==GM12B=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 97 mm = _____ cm et _____ mm
b) 8 cm = _____ mm
c) 76 cm = ____ dm et ____ cm
d) 67 dm = _____ cm
e) 657 cm = ____ m et ____ cm
f) 9 m 85 cm = ______ cm
g) 5 km = ______ m
h) 9786 m = _____ km _____ m
i) 8 kg = _____ g
j) 6677 g = _____ kg _____ g
(=maths==CE1==GM12C=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 47 mm = _____ cm et _____ mm
b) 8 cm = _____ mm
c) 76 cm = ____ dm et ____ cm
d) 44 dm = _____ cm
e) 454 cm = ____ m et ____ cm
f) 4 m 85 cm = ______ cm
g) 5 km = ______ m
h) 4446 m = _____ km _____ m
i) 8 kg = _____ g
j) 6474 g = _____ kg _____ g
(=maths==CE1==GM12D=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 57 mm = _____ cm et _____ mm
b) 8 cm = _____ mm
c) 76 cm = ____ dm et ____ cm
d) 65 dm = _____ cm
e) 655 cm = ____ m et ____ cm
f) 5 m 85 cm = ______ cm
g) 5 km = ______ m
h) 5566 m = _____ km _____ m
i) 8 kg = _____ g
j) 6675 g = _____ kg _____ g
(=maths==CE1==GM12E=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 12 mm = _____ cm et _____ mm
b) 6 cm = _____ mm
c) 26 cm = ____ dm et ____ cm
d) 43 dm = _____ cm
e) 453 cm = ____ m et ____ cm
f) 1 m 65 cm = ______ cm
g) 5 km = ______ m
h) 1326 m = _____ km _____ m
i) 6 kg = _____ g
j) 6423 g = _____ kg _____ g
(=maths==CE1==GM12F=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 72 mm = _____ cm et _____ mm
b) 6 cm = _____ mm
c) 26 cm = ____ dm et ____ cm
d) 53 dm = _____ cm
e) 553 cm = ____ m et ____ cm
f) 7 m 65 cm = ______ cm
g) 5 km = ______ m
h) 7326 m = _____ km _____ m
i) 6 kg = _____ g
j) 6523 g = _____ kg _____ g
(=maths==CE1==GM12G=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 62 mm = _____ cm et _____ mm
b) 6 cm = _____ mm
c) 26 cm = ____ dm et ____ cm
d) 58 dm = _____ cm
e) 558 cm = ____ m et ____ cm
f) 6 m 65 cm = ______ cm
g) 5 km = ______ m
h) 6826 m = _____ km _____ m
i) 6 kg = _____ g
j) 6528 g = _____ kg _____ g
(=maths==CE1==GM12H=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
\ Complète
a) 12 mm = _____ cm et _____ mm
b) 6 cm = _____ mm
c) 26 cm = ____ dm et ____ cm
d) 53 dm = _____ cm
e) 553 cm = ____ m et ____ cm
f) 1 m 65 cm = ______ cm
g) 5 km = ______ m
h) 1326 m = _____ km _____ m
i) 6 kg = _____ g
j) 6523 g = _____ kg _____ g
(=évaluation==CE1==GM12=) 
Rappels
1 cm = 10 mm			1 dm = 10 cm			1 m = 100 cm
1 km = 1000 m					1 kg = 1000 g
Compétence : Manipuler les différentes unités de mesure
 Complète
a) 92 mm = _____ cm et _____ mm
b) 6 cm = _____ mm
c) 26 cm = ____ dm et ____ cm
d) 93 dm = _____ cm
e) [bookmark: _GoBack]393 cm = ____ m et ____ cm
f) 6 m 69 cm = ______ cm
g) 9 km = ______ m
h) 9326 m = _____ km _____ m
i) 6 kg = _____ g
j) 6923 g = _____ kg _____ g

